5/20/2015 Print Test

PRINTABLE VERSION
Quiz 3

You scored 100 out of 100

Question 1

Your answer 1s CORRECT.

Identify any holes of the following function.

:2:1:2—4:1: = 2&(‘-1).; ZXLS/L)

Jx)
4716 R(x2og) /D)
) o (2,0 2x |
new F“) - at x=2
b) = Hone l.‘.Lx.l. 1)
1 .
2 2 = 4 . _'_,
[ 4] ne_a?'l.l\:__z.'_‘.-_)'*"ﬂ.— - 4
) 4(%) ‘o
[_2 1 ] 4at2
" 4 |
d) (2, /q_)
e) (2,0)
Question 2
Your answer is CORRECT/, oo ’:P‘" - concel ke ferms
Give the vertical asymptote(s) for the graph of )
)63
2itgaees 2 Xt T +9

Jflx)=
F—x—2 (x - 2)()(1"‘)

Xtl=o
Xz -l
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e) x=-1,x=2 x=-7

f)  None of the above.

Question 3 b -d -
Your answer 1s CORRECT. .j-.-.o (- ! QHU‘ "

Give the coordinates of the x-intercept(s) for the graph of

i 1T 570

Ug, - 3)x-)
Flx) =" :
dorme -3 ) lte)

a) (7,0), (10,0)

. X-lo
b)  (-6,0) -
X+L
@ wo (o0
d) (7: O)J (_69 O) x: lO

e) (10,0), (-6, 0)

f) ~ None of the above.

Question 4
Your answer 1s CORRECT.

Give the vertical asymptote(s) for the graph of

s £ —17x+70 < U‘, - 3)(x-10)

2
B s 124
H-3+)x+6)
a) x=-7,x=6
b) x=6 : X°le
X+
@ x=-6

d x=-6,x=7 VA, x-’-'b

e) x=10, x=-6

f)  None of the above.
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Question 5
Your answer 1s CORRECT.

Give the horizontal asymptote(s) for the graph of

s Ferm: X
(x—2) (x—3) leoding Term
05 +x —2x—5 lox3 & byger

y-e

Fflx)=

¢)  y=1/10

d)  There are no horizontal asymptotes

"

f)  None of the above.

Question 6
Your answer 1s CORRECT. I
Give the domain for the graph of
2, (%-3) (x+3)
flx)=—=—= =
x +8x+ 15 LX“'J )b(-l-g)
a)  All real numbers except x=3 and x=-5. X 1 3# o X415 fo
All real numbers except x=-3 and x=-5 boltom # 0 3
=3 and x=-s Xt=3  X#-S

¢)  All real numbers except x =-3.
d)  All real numbers except x =-5.
e)  All real numbers.

f)  None of the above.

Question 7

Your answer 1s CORRECT.

Give the horizontal asymptote(s) for the graph of
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_6(x+8)(-2—nx)
T Py b |32
a) y=2
. =b
b) - y=0 ¢ T
¢)  There are no horizontal asymptotes.
B Oyt 3 =-b

R

f) ~ None of the above.

Question 8
Your answer 1s CORRECT.

Identify the location of any holes (i.e. removable discontinuities) in the graph of

3
—x2—4x+32 - '(x 1'4"" 32-)
4
x ke lilex 24 x1+“x +21 %

Fix)=

(-8, -12/5) o - [x +/ Jx-4) _ ~(x-%)

b)  (-8,-12/5) and (4,0)
(x +3)(x /8 ) lX'H)

¢) (8,-4/11)

d) (-4, -8) Xt+8:= O b _g)z -(-8- ‘l:) _g_

e) (40 X=-8 2 -8+3

f)  None of the above. L" 8 ) ¢

Question 9
Your answer 1s CORRECT.

Identify the y-intercept, if there is one.

\' X=0 T—3
Fla) =212
x—1 LO‘ 3)
a)  There is no y-intercept. {: lb\ - 3 - =3
0-1 o
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o
(0.3)
¢) (0, -1)
d) (0,-3)
e (0,1

f)  None of the above.

Question 10

Your answer 1s CORRECT.
Does the function have a horizontal asymptote, a slant (oblique) asymptote, or neither?
i —x3—|—3x2—|—5 La““"" "‘}""
A E om
e % ‘d =0
a)  Neither
b)  Slant
@ Horizontal
Question 11
Your answer 1s CORRECT.
The graph of the function “ﬂ : H =5
2
i e ]
flx) =252
it o O S

has a horizontal asymptote. If the graph crosses this asymptote, give the x-coordinate of the
intersection. Otherwise, state that the graph does not cross the asymptote.

__13 Sx>tIxte _ S
a) 4 - 2 |
X2+x-2
_ 15 _ . SxEIX 1L
b) r 4 btxzfx"?—) - )
7 5K 4Sx-1o = KK
C) x__? "l(‘ - q'K
K= -4
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d) The graph does not cross the asympiois.

® x=-4

f)  None of the above.

Question 12

Your answer 1s CORRECT.
Find the point of intersection of f{x) and the horizontal asymptote. HA : 5 = ;'_-
2
() x2+|5x+2 ,r
i A
a)  (-2/5,1/10) xl_““_,_ iR
X 2
b)  (1/5,27/29) 2x 1_'_ K 42
¢  (-2/5,710) _ LLK"{-GXH)
2 eIt "

@ (-2/5, 112)

= et

2+ x4t

e)  (2/5,57/64) 2= Cx

f)  None of the above. A= - 1/5'
Question 13
Your answer 1s CORRECT.

What 1s the situation with respect to holes and vertical asymptotes for

5
5 - —
W=7 T (x+ | N X-4)

r —3x—

a)  Two holes and no vertical asymptotes. V. ﬂ . X= -l
b)  Neither holes nor vertical asymptotes. X= 4
¢) © Two vertical asymptotes and no holes.

d)  One hole and one vertical asymptote.

e)  One hole and no vertical asymptotes.

https:/iwww .casa.uh.edu/C ourseWare2008/R oot/Pages/CW/Users/Student/Grades/PrintTest.htm



5/20/2015 Print Test
f)  None of the above.

Question 14

Your answer is CORRECT.
[dentify the slant (oblique) asymptote for the graph of ff we w‘r,..r
ree
f{x):—?x2—5x+4) by | dey

= kent (stant)

a)  ry=-4 -IX -1* & Qs
“Ixl-sx + -

by  y=-Tx—=3 X -1 |/?K x+ ¥ %-_-fu 12

(eI
¢) O y=-7

-(2X +¢

yv=-Tx+2
X - (~12x +12)

= Fep—nl _g

f)  None of the above.

Question 15
Your answer 1s CORRECT.

Which of these 1s a rational function?

Ve - b
y,ﬁ J° Function I: no om al
Py 7 s ;=5 & Py

Y

x +6x3—8x+9

Function II:

JIs+6r—2 YES

flile_ 5 3
x +éx —Bx+9

Function III:

|z + 9| &

x5+6x3—8x+9 .

Function 1\ S
"30s @/ s

f)=x " +3—6 ot Pljmmls

Fflx)=

a) Il only
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5/20/2015
b) Il and IV only
@ IT only
d) IVonly
e) lonly
f)  None of the above.
Question 16
Your answer is CORRECT.

Which of the following expressions will generate the following graph?
A L/ VA : X=0

d.

\¢ of )
M —

: I;] ll'- HR:%-.O

Poctor : (x-

[

/x
2..
x4
2) = e ey
-l
fw=-fl s =
b) x (x—/1) X
_ ‘.‘.'._'_
o o P TTT x
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a0 A S+ 1)

f) ~ None of the above.
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(Y~¥)*= %p x-h)

From: Homework #3

9. Solve the system of equations: (Hint: Sketch first) / VC'““‘

(y+3)2 B (x—2)2 g
= 23

) e
x=-10(y+3) +2 & Parst \
(X-2)= -lo(yt3)"

3,2)
2,-3)
(7,-3) and (-3, -3) _-_l- (,X"-) - "1 +3)* lo

A
B.
C
D. (2,-1)and(2,-5) lo
4o
@ No solution




Find the quadratic function satisfying the following conditions:
the axis of symmetry 15x =6

the y intercept is (0, 36)

there is only one x-intercept.

) £(x) =61 +x+ 36

B) f(x)= -2 + 12x + 36

Ff(x)=x2— 12;+35J

D f(x)=-62 +36

9O px)=t +6x+36
f) None ofthe above.

Given the function

36

Fud = x-)*

oo = x*-lax+3L



Given the function
2
flx)=x —6x+4

Which of the following statemeants is true?

a) * fix)has a maximum value. The valueis 7

b) ' fix)has a munimum value, The value 15 -13,

¢) ' fi¥)has a punimum value, The valuess 1.
E Jfix) has a minimum value. The value is -3.

e)  fix)has a maximum value. The value 15 -3 T mm

d) None of the above \' ‘\u b

-+ J;L,-_:_:\\ - (3,83))

20 )

fFLa) = 3% L)+

2 = q9-)18+4%
= -5 va'n \fh\a-u.)



Find the linear function f that satisfies the given conditions:

( 1)0)

!
sl*t, b{: 0

passes through (2, 6) and parallel to the line y = 3

/ =3

1




State the coordinates of the foci for the given ellipse.

From Quiz #4

3 (J85,0):(-/85,0)
b @ (0, -/13) - (0.4/13)
o (/85,-V13) (-85, /13)
9l (-V13,0)(V13,0)
9 (0, -/85)(0.85)

f)  None of the above.

Your answer is INCORRECT.




39

Your answer is INCORRECT. 3

Write the following in standard form for an ellipse. zs
From Quiz #4 47 —24x—394+255" —50y=0

" u(;—;] N (y(-:]]] -1 4x3_ z;,l,x 1-2‘53‘:- ‘503 = 3q
b) =3 -1 _

@ @) LI'LX — bx ¢ Wl-) )"'Zs(ﬂ _Z:J+ 1-)) 39 +4(-3°) +25(?)

o R - 15( -I) = 51+‘+Lﬂrls
aic (X(TOJJ +L}’(1—0)] -1 l‘"(x 3) T 'J

- - -
oot g(x-3)t 4 28407 F k2
lod

fi None of the above. i

loo 0o

L)(".’:)l + lj;'llr.l
25 4



